-

—-
—-

—p—
—-

—-
-

?

-
0T-
TT-

Fas

<T-

w
@
-10- 17 -10-
UTIL:AT: o
ECON.ON Qo
0.0 % ouTL ngl-'lcg)' =
——————— UTIL:14:0UT2 ouT2 E N.ON AO:1: t o
A N 16 17
UTIL:16: N——1 UTIL:16:0UT1 _;: UTIL:17:0UT1 ouT1 M-RA1 =
ECON.ON EMS:L:AVS ouT2 e m
\CONFG=SELECT EMSLDVS UTIL:19:0UT1 out =
UTIL:14:0UT2 — Al ouT1 JUNIT=% 0.0 OUTMA E T}
5.0 % INDIF ouT2 *NAME=ECON.ON +CONFG=SELECT 100.0 ©
o UTIL:15:0UT1 — SP 'OPERiSDWITCH JJUNIT=% 4.0 mA Jo w
*OUNIT=% NAME=ECON.ON 20.0 mA 7
+CONFG=THERMOSTAT *OPER=SWITCH \ /
*NAME=ECON.ON +*OUNIT=% +CONFG=BLOCK USED
“UNITS=% NM——T “NAME=M-RA1 4 \
L -STIME=1.0
A +SUNIT=HOURS
%
— ©
\ EMS:1: UTIL:12: <
-8 LOOP:2: MZ-é ' DUSTCOLL 8-
UTIL:15: ECON.DMP
30,0 At As1 OFF —{ IN1 ouT1L |—[C]
ECON.ON OFF —{ ATMIN AV 100 Al asa ON — IN2 ouT2 AO:2:
EMS:1:AV2 All OouTL ON — DENAB ECAV |— 95'0 A3 AS3 EMS:1:DV3 SLECT i
25 % ouT2 0.0 MIN — DERV REVAV [— ' M-REL1 2}
68.0 — Al4 AS4 [— — 2l
0.0 % ~——— UTIL:B:OUT1 — ENABL *CONFG=SELECT UTIL:18:0UT1 out o
0.1 —{IGAIN 10.0—AI5 ASS = *JUNIT=DIGTL 0.0 OUTMA 4]
: 10.0 —| Al6 AS6 f— “NAME=DUSTCOLL ' S
*CONFG=MATH UI:2:0UT — INPUT _ 100.0 5
=9 0.0 — AI7 AST |— *OPER=SWITCH
*IUNIT=% 100.0 % —{ MAXOU «OUNIT=DIGTL 40 mA x
*NAME=ECON.ON X EMS1.AV2 —| MINOU 0.0 — A8 AS8 [— = 200 mA
7= “OPER=(AIL + Al2) + Al3 LAVZ — oN— it AVL |— -0 m J7-
+OUNIT=% ON — OCCuP oN— bi2 Ao b AN -
15.0 MIN —{ RMTIM ofF  pia A3 A +CONFG=BLOCK USED
N——— uTIL.7:0UTL —{SP “NAME=M-REL1 .
" oFF — pDia AVA — MNP +STIME=1.0 g
o'g gig E_ LTJF:nsp OFF —DI5 AVS S *SUNIT=HOURS 2
0.0 pE6 F ] uLose OFF — DI AV6 ,VVV M UTIL:18: G
00 DEG F —| UNHYS OFF —DI7 AT T o) n
’ OFF — DI8 AV8 |— ECON.ON n 7
\CONFG=ONE SP. DIRIREV DS1 f— L N— P PN—— uTIL1T:0UTL ouTL
ouT ' DS2 f— L—PN—PPN—— EmsizAV7 ouT2
-6- *NAME=ECON.DMP DS3 [— N P————— Ems:1:DV3 —-6—
UNITS=DEG F pS4 |—
DS5 |— *CONFG=SELECT AO:3:
*IlUNIT=%
DS6 [— _ M-OAl
8 PS s — *NAME=ECON.ON
bS8 *OPER=SWITCH UTIL:20:0UT1 ouT
.q. = +*OUNIT=%
UTIL:8: v g A A 0.0 OUTMA
ECON.DLY V2 — 100.0
4.0 mA
2.0 MIN — DELAY ouT1 DV3 f—[B] —— PP 20.0 :A
[Pg 2] UTIL:6:0UT1 TN DV4 [— ’
-5 OFF MIAOI?OPL.&T Ex: = +«CONFG=BLOCK USED -
. — *NAME=M-OA1 Ce.
*CONFG=TIMER orr —| aTm v A DV7 |~ UTIL:20: +STIME=1.0 Le9
el ECON.ON +SUNIT=HOURS 2R
*OPER=ON DELAY ON — DENAB ECAV |— evs — : [aNala)
0.0 MIN — DERV REVAV |— ——————————————— UTIL:14:0UT2 OuT1
UTIL:8:0UT1 — ENABL ACTON=BLOCK USED EMS:L:AV6 ouT2
0.1 —{ IGAIN “FALBK=240 SEC LPN—P—————— EmsiDV3
UI:3:0UT —{ INPUT “NAME=MZ-3
100.0 % — MAXOU *CONFG=SELECT
0.0 % —{ MINOU *IUNIT=% o
4 on — occur PP NAME=ECON.ON Ry AR
— +*OPER=SWITCH .. 5 o a
15.0 MIN —{ RMTIM «OUNIT=% i 5 9o 8 ]
45.0 DEG F — SP . 3] 3] = 0
UTIL:14 QO @ E T
20.0 DEG F — TR MA.L -LI\/IIT 2Ecs02%
0.0 DEG F —{ UHISP LO SoDc &£
0.0 DEG F — ULOSP LOOP:2:AV ouTL :: LIL] 8 8 8 6
0.0 DEG F —{ UNHYS LOOP:3:AV APP—
Ula: 100.0 T
-9 +*CONFG=ONE SP, DIR/REV LOO
TS-MA T N
- out *CONFG=SELECT F/B DAMP *CONFG=BLOCK USED o
-3~ *NAME=MA.LOLMT *NAME=MA.LOLMT *NAME=M-F/B 3| o
0.0 MIN — OCTIM COUNT - .
0.0 DEG F — OFCAL DIAGN *UNITS=DEG F *OPER=HIGH LOW SELECT OFF — ATMIN AV +STIME=1.0 o
. ouT *UNITS=NONE ON —| DENAB ECAV | *SUNIT=HOURS 8
0.0 MIN — DERV REVAV [— o
TIMER
EMS:1:DV1 — ENABL =
*CONFG=BALCO N A 0.1 - IGAIN - (-’3
+FILTR=NO FILTER ul:2: UI:2:0UT —{ INPUT o
“NAME=TS-MA S. : 100.0 % — MAXOU zZ =
*STIME=1.0 TS-RA UTIL:7: 0.0 % — MINOU 1]
'ngV’I‘T'TC:"’:‘%USRVf/ITCH 0.0 MIN — OCTIM COUNT ZONE.SP oN —{ occup S YESEEVA >
o =| 0: -1 Y
-2— \UNITS=DEG F 0.0 DEG F — OFCAL DIAGN N 1 15.0 MIN —{ RMTIM [Pg 2] UTIL5:DI1 2| O
ouT EMS:1:AV4 ouTL UTIL:7:0UT1 — SP [Pg 2] UTIL:2DI o
TIMER EMS:L:AV3 ouT2 4.0 DEG F —{ TR >
[Pg 2] UTIL:4:0UT1 0.0 DEG F —{ UHISP To: EMS:1:DV3 <
\CONFG=THERMISTOR 0.0 bee F - ULosp [Pg 2] UTIL:11:SLECT
*FILTR=NO FILTER +*CONFG=SELECT 0.0 DEG F — UNHYS To: UTIL:12:0UT1
*NAME=TS-RA «IlUNIT=DEG F [Pg 2] UTIL:13:SLECT
(STIME=1.0 NAME=ZONE SP +CONFG=ONE SP, DIRIREV — o .
*SUNIT=HOURS «OPER=SWITCH our ’ [ L o)
*SWITC=NO SWITCH of =
UNITS=DEG F OUNIT=DEG F *NAME=F/B DAMP 2] = y|lZw
*UNITS=DEG F = < £
- - Z E|lFLWL
1 i ) ik
Z ] g w 3
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UTIL:10:
UTIL:4: FAN.RUN
FAN.SAFE UTIL:4:0UT1 ouT1
UTIL:3: 0.1 MIN — DELAY ouT1 [A]—, —————————— UTIL:6:0UT1 ouT2 .
MORNWARM UTIL:3:0UT1 — DI1 ouT2 N uTIL9:0UT2 %
K . OFF —{ DI2 a
-8 N VTIL2:0UTL ourt “CONFG=LOGIC UTIL10:0UTL &
UTIL:L:OUT2 ouT2 «CONFG=TIMER *NAME=FAN.RUN
UTIL:3:0UT1 NAME=FAN.SAFE *OPER=DI1 OR DI2 OR DI3 ACTON-DIRECT AGTING
- +*OPER=OFF DELAY “NAME=SAF.S/S
UTIL2 *CONFG=SELECT
MORNWARM “IUNIT=DIGTL »
o =| c
[Pg 1] EMS:1:DV1 — DI ouT1 .gégs:gv?,ﬁ'm/'\w o
0.0 - OFPLS ouT2 «OUNIT=DIGTL 2
3.0 - ONPLS P
@
+CONFG=MOMENTARY
=7- START/STOP -
*NAME=MORNWARM
*TIME=SECONDS
@
[}/
j
I
<
Q)
B3 S
UTIL:13:
—6— UTIL®G DUSTCOLL 6=
o N————— uTIL:oUTL ouTL
FAN.SAFE OFF ouT2
0.0 MIN — DELAY ouTL |—[B] [Pg 1] UTIL:12:0UT1
UTIL:5:0UTL — DIL ouT2
OFF —{ DI2 *CONFG=SELECT
USTCOLL UTIL:11:0UT1
*CONFG=TIMER
UTIL:5: “NAME=FAN.SAFE *OPER=SWITCH
NORM.OCC «OPER=ON DELAY *OUNIT=DIGTL “ACTON=DIRECT ACTING
- ’ “NAME=M-CS 15—
[Pg 1] EMS:1:0V1 —{ DI1 ouT1
-UTIL:3:OUC'JFI\Z: g:i ouT2 F_,J 9 9
© © ©
[agaya)
+CONFG=LOGIC
*NAME=NORM.OCC
+*OPER=DI1 AND DI2 AND
DI3
UTIL:1: %=
-+ MORNWARM g 822
[Pg 1] Ul:20UT —{ Al ouT1 8L 9o 8 v o
4.0 DEG F —{ INDIF ouT2 o 0 % c g
65.0 DEG F — SP 2c s o= S
SoDc &£
«CONFG=THERMOSTAT 2 0 0oL
*NAME=MORNWARM UTIL:11: <WoOoOownmwo
*UNITS=DEG F it
DUSTCOLL
Ul4: UTIL:6:0UT1 ouT1 R
-3- o OFF ouT2 4| o
TS-SPACE - YT o
[Pg 1] EMS:1:DV3 To: UTIL:4:0UT1 S
0.0 MIN — OCTIM COUNT [Pg 1] UTIL:7:SLECT 3
0.0 DEG F — OFCAL DIAGN *CONFG=SELECT o
out +CONFG=THERMOSTAT “IUNIT=DIGTL s
*NAME=NSB
TIMER .UNITS=DEG F +OPER=SWITCH -~ ""\17
*OUNIT=DIGTL Q
*CONFG=THERMISTOR zZ =
+FILTR=NO FILTER L
*NAME=TS-SPACE >
*STIME=1.0 —
-2- +SUNIT=HOURS 21 O
+SWITC=NO SWITCH )
UNITS=DEG F
P4
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o W i
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-10- Block Name Pg Name Pg# Loc (X,Y) Block Name Output  Pointed To By -10- o
AO:1:M-RA1 PAGE #1 1 (14’ 10) EMS:1:MZ-3 DV1 LOOP:1:F/B DAMP:ENABL o
o AV2 LOOP:2:ECON.DMP:MINOU
20:2:m Rilil g':GE zi i (ij' 8 DV3 UTIL:11:DUSTCOLL:SLECT =
0:3:M-0 G (14, 6) UTIL:12:DUSTCOLL:SLECT t o]
AO:4:M-F/B PAGE #1 1 (14, 4) AV2 UTIL:15:ECON.ON:AIL -
DO:1:SAF.S/S PAGE #2 2 (14,8) AV7 UTIL:18:ECON.ON:IN2 (4 I
DO:4:M-CS PAGE #2 2 (14, 6) DV3 UTIL:18:ECON.ON:SLECT
EMS:1:MZ-3 PAGE #1 1 (8, 8) AV5 UTIL:19:ECON.ON:IN2 E o
5 LOOP:L:F/B DAMP  PAGE #1 1 (12,3 DV L eCT 1N N ®
LOOP:2:ECON.DMP PAGE #1 1 (5, 8) AV6 UTIL:20:ECON.ON:IN2 =
LOOP:3:MA.LOLMT PAGE #1 1 (5, 5) DV3 UTIL:20:ECON.ON:SLECT \—/
UI:1:TS-SA PAGE #3 3 (5, 8) DV1 UTIL:5:NORM.OCC:DI1 4 \
Ul:2:TS-RA PAGE #1 1 (5,2) AV4 UTIL:7:ZONE.SP:IN1
UISTS-MA PAGE #1 ! 2.3) LOOP:1:F/B DAMP ﬁxs ;ng_lzlz_:;lzggilsp:mz
UIE4EESS'§PACE PAgE #g g 5.3) LOOP:2:ECONDMP AV UTIL:14:MA LOLMT:INL B
UI:5:CS-SF PAGE # (5, 4) LOOP:3:MALOLMT AV UTIL:14:MA.LOLMT:IN2 o
UTIL:1:MORNWARM  PAGE #2 2 (2,4) UI:2:TS-RA ouT LOOP:1:F/B DAMP:INPUT 3
-8 UTIL:2:2MORNWARM PAGE #2 2 (2,8) LOOP:2:ECON.DMP:INPUT -8
Ull: UTIL:3:MORNWARM PAGE #2 2 (5, 8) UTIL:1:MORNWARM:AI
TS SA UTIL:4:FAN.SAFE PAGE #2 2 (8Y g) UL:3:TS-MA ouT LOOP:3:MA.LOLMT:INPUT
- = Ul:4:TS-SPACE out UTIL:9:NSB:Al
0.0 MIN — OCTIM COUNT Bgtgggl\'?'\SAA?:EC Eﬁgg 23 g (g’ Z) UTIL:1:MORNWARM  OUT2 UTIL:3:MORNWARM:IN2 "
0.0 DEG F — OFCAL DIAGN e y (8,6) UTIL:22MORNWARM  OUT1 UTIL:3:MORNWARM:IN1 8
out UTIL:7:ZONE.SP PAGE #1 1 (82 UTIL:3MORNWARM OUTL  UTIL:3:MORNWARM:SLECT B
TIMER UTIL:8:ECON.DLY PAGE #1 1 (2, 6) UTIL:4:FAN.SAFE:DI1 S
UTIL:9:NSB PAGE #2 2 (8, 3) UTIL:5:NORM.OCC:DI2 2
*CONFG=BALCO UTIL:10:FAN.RUN  PAGE #2 2 1,9 UTIL:4:FAN.SAFE ouT1 UTIL:10:FAN.RUN:DI1
-7- *FILTR=NO FILTER a1 y ' UTIL:7:ZONE.SP:SLECT 47—
*NAME=TS-SA UTIL:11:DUSTCOLL PAGE #2 2 (11, 3) . o Py
STIMEZ10 UTIL12.DUSTGOLL  PAGE #1 1 (12.8) UTIL:5:NORM.OCC ~ OUT1 UTIL:6:FAN.SAFE:DI1
-SUNIT=HOURS e , UTIL:6:FAN.SAFE ouT1 UTIL:10:FAN.RUN:DI2 .
“SWITC=NO SWITCH UTIL:13:DUSTCOLL PAGE #2 2 (11, 6) UTIL:11:DUSTCOLL:IN1 gl
*UNITS=DEG F UTIL:14:MA.LOLMT  PAGE #1 1 (8, 4) UTIL:13:DUSTCOLL:IN1 g
UTIL:15:ECON.ON  PAGE #1 1 (2, 8) UTIL:8:ECON.DLY:DI1 C
UTIL:16:ECON.ON PAGE #1 1 (5’ 10) UTIL:7:ZONE.SP OuUT1 LOOP:1:F/B DAMP:SP Q
1o LOOP:2:ECON.DMP:SP 4+ &
UT"‘;NjECON'ON PAGE #1 1 (8, 10) UTIL:B:ECON.DLY  OUT1 LOOP:2:ECON.DMP:ENABL
UTIL:18:ECON.ON PAGE #1 1 12, 7) LOOP:3:MA.LOLMT-ENABL
-6 UTIL:19:ECON.ON  PAGE #1 1 (12,10) UTIL:9:NSB ouT2 UTIL:10:FAN.RUN:DI3 d6
UTIL:20:ECON.ON  PAGE #1 1 (12, 5) UTIL:10:FANLRUN  OUT1 DO:1:SAF.S/S:DI
UTIL:11:DUSTCOLL ~ OUT1 DO:4:M-CS:DI
UTIL:12:DUSTCOLL ~ OUT1 UTIL:13:DUSTCOLL:SLECT
UTIL:14:MA.LOLMT  OUT2 UTIL:16:ECON.ON:AI
UTIL:17:ECON.ON:IN2
UTIL:20:ECON.ON:IN1
UTIL:I5:ECON.ON  OUT1 UTIL:16:ECON.ON:SP
UTIL:16:ECON.ON  OUT1 UTIL:17:ECON.ON:SLECT
UTIL:A7:ECON.ON  OUT1 UTIL:18:ECON.ON:IN1
-5 UTIL:19:ECON.ON:IN1 I5—
UTIL:18:ECON.ON  OUT1 AO:2:M-RELL:AI ..
UTIL:19:ECON.ON  OUT1 AO:1:M-RALAI v3Q
UTIL:20:.ECON.ON  OUT1 AO:3:M-OALAl C © ©
[agayal
e i S
Lo Ega2
o5 0e7
LV ® E O
EEE2=20
cC nE o
88836
*CONFG=DIRECT DIGITAL
*NAME=CS-SF
*UNITS=DIGTL N~
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